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𝑦 = 2𝑥 + 3
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01. khj fld; njhif  = 
240 000

24
 

=    &' 10 000 

       xU khj tl;b   = 10 000 ×
18

100
×

1

12
  

     =  150 /= 

  khj myFfs;  =  
𝑛

2
 (𝑛 + 1) 

     =
24

2
 (24 + 1) 

     = 300 

 nkhj;j tl;b   = 150 × 300 

     = 45 000 /= 

 gq;Ffspd; vz;zpf;if =  
240 000

50
 

     = 4 800 

 2 tUl gq;fpyhgk;  = 4 800 × 8 × 2 

     = 76 800/= 

 %yjd ,yhgk;  = 4 800 × 5 

     = 24 000/= 

vQ;rpa ,yhgk;  =  (76 800 + 24 000 − 45 000)  

    = 55 800/= 

 

 

02 ) (a) (i) 𝑦 = 1 

  (ii) njw;fhl;bj;jsk; mikj;jy; 

   6 Ms;$Wfisf; Fwpj;jy; 

   tiugpw;F 

  (b) (i) 𝑥 = 1 

   ,opTg; ngWkhdk; =  -4 

  (ii) −1 < 𝑥 < 3 

  (iii) 𝑦 = (𝑥 + 1)(𝑥 − 3) 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 2 

 2 

10 

10 



 

03) cUisapd; cauk;  = 𝑥 + 8 

 2𝜋𝑥 (𝑥 + 8) + 2𝜋𝑥2 = 100𝜋 

 𝑥2 + 8𝑥 + 𝑥2 = 50 

 2𝑥2 + 8𝑥 − 50 = 0 

 𝑥2 + 4𝑥 − 25 = 0 

 

 𝑥2 + 4𝑥 = 25 

 𝑥2 + 4𝑥 + 4 = 25 + 4 

 (𝑥 + 2)2 = 29 

 𝑥 + 2 =  ±√29 

 𝑥 =  ±5.39 − 2 

 

𝑥 = 3.39  𝑥 =  −7.39 
ePskhdJ kiwg;ngWkhdkhf mikahJ 

𝑥 = 3.39 

cUisapd; cauk; = 3.39 + 8 

  = 11.39 

 

04 ) (i) 30 – 34  

 (ii)  
Njq;fha;fspd; 
vz;zpf;if 

jLg;ngWkhdk; kPbwd; f tpyfy;   d F x d 

15 - 19 17 4 -15 -60 

20- 24 22 8 -10 -80 

25 – 29 27 10 -5 -50 

30 – 34 32 17 0 0 

35 – 39 37 9 5 45 

40 – 44 42 7 10 70 

45 - 49 47 5 15 75 

  𝜀𝑓 = 60  𝜀𝑓 × 𝑑 = 0 

 

,il = 𝐴 +  
⅀ 𝑓×𝑑

⅀𝑓
      jLg;ngWkhd epuy; 

    = 32 +
0

60
      tpyfy; epuy; 

    = 32       𝑓 × 𝑑 epuy; 

ehnshd;Wf;fhd ,yhgk;= 32 × 8       

     &' 256 

3 kjq;fSf;fhd ,yhgk; &' 256 × 90 

  &' 23 040 

20 000 < 23 040       cld;gLfpNwd; 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1  1 

10 



 

5) 3𝑥 + 𝑦 = 18 

 4𝑥 + 2𝑦 = 26 

 2𝑥 + 𝑦 = 13 

a + b 

𝑥 = 5 

𝑥 = 5  a ,y; gpujpaply;    

15 + 𝑦 = 10 

𝑦 = 3 

PQRS ePsk; = 5 + 3  PQRS gug;gsT = 8 × 5 𝑐𝑚2 

   = 8      = 40 𝑐𝑚2 

 

 

 

 

6&   

 

 

 

 

¸¸&  sin  550 10/       =   
𝑋𝑌

12
 

 0.8208    =  
𝑋𝑌

12
 

0.8208 × 12            = 𝑋𝑌 

 𝑋𝑌            =   9.8496 

 𝑋𝑌            = 10 𝑚 

 

¸¸¸&  cos 550 10/        =  
𝑋𝐴

12
 

 0.5712                  =  
𝑋𝐴

12
 

         𝑋𝐴            =  0.5712 × 12 

  𝑋𝐴            =  6.8544 

  𝑋𝐴            =  7 

 

¸¹&  tan 𝜃          =    
10

15
 

 Tan 𝜃          =    0.6667 

 𝜃                   =  330 42/ 

 a  1 

 1 

 b  1 
 1 

 1 

 1 

 1 

 1 

 1 

 1 

X 

Y 

A 

12m 

550 10/  1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

 1 

10 

10 



fzpjk; ¸¸  

gFjp 𝐵  

 

7&  𝑆𝑛 =  
𝑛

2
{ 2𝑎 + (𝑛 − 1 )𝑑} 

 tpD}[p( 𝑆12 =  
12

2
{ 2 × 1000 + (12 − 1 )100} 

 njDyp(  𝑆6 =  
6

2
{ 2 × 1000 + (6 − 1 )𝑥} 

   
6

2
{ 2 × 1000 + (6 − 1 )𝑥}  =    

12

2
{ 2 × 1000 + (12 − 1 )100}  

        ^ rkg;gLj;jYf;F& 

      5𝑥         = 4200 

      𝑥             = 840 

  𝑇𝑛 = 𝑎 + ( 𝑛 − 1 )𝑑 

𝑇6 = 1000 + ( 6 − 1 )840 

𝑇6 = 1000 + 4200 

𝑇6 = 5200 

njDyp jprk;gu; khjk; Nrfupj;j gzk;( &.5200 MFk;' 

 

 

 

8& 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

1 

1 

1 

1 

1 

1 

1 

1 

1 10 

 

i) 03 

ii) 02 

iii) 02 

iv) 02 

v) 01 
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9&  

 

 

 

 ¸&  𝐵𝐶 = 𝐶𝐸  ^juT& 

𝐴𝐷 = 𝐷𝐸 ^ juT & 

∴ 𝐴𝐵 // 𝐶𝐷  ^eLg;Gs;spj; Njw;wk;& 

 

 ¸¸&  𝐴𝐵𝐹 ∆  , 𝐶𝐺𝐹 ∆   

𝐴𝐹       =       𝐹𝐶 ^ 𝐹, eLg;Gs;sp & 

B𝐴̂𝐹       =       𝐹𝐶̂𝐺 ^ xd;Wtpl;l Nfhzk; & 

A𝐵̂𝐹       =       𝐹𝐺𝐶 ^ xd;Wtpl;l Nfhzk; & 

∴ 𝐴𝐵𝐹 ∆ ≡   𝐶𝐺𝐹 ∆  ^ Nfh.Nfh.g& 

 

 ¸¸¸&  𝐴𝐵 =  𝐶𝐺  ^xUq;fpirAk; Kf;Nfhzpapd; xj;j cWg;G& 

  𝐴𝐵// 𝐶𝐺 ^NkNy epWty;& 

  ∴ 𝐴𝐵𝐶𝐺 ,izfukhFk; ^ vjpu;g;gf;fq;fs; rkDk; rkhe;juKkhFk;& 

 

 

 

 

10&  𝑎) 

 ¸& 
2

3
 𝜋(2𝑎)3 +  𝜋𝑎2 × 𝑎  

  
2

3
 𝜋8𝑎3 +  𝜋𝑎3 =  

19𝜋𝑎3

3
  

 

 ¸¸& 𝜋( 2𝑎)2  × ℎ =  
19𝜋𝑎3

3
    ^ rkg;gLj;Jtjw;F& 

 

 

   ℎ       =  
19𝑎

12
 

 

 

 

A 

C B 

D 

G 

E 

F 

2 

1 

1 2

2 

1 

1 

1 3

2 

1 

1 

1 3

2 
10 

2

1

1

1

 

5

2 



  

 𝑏) lg 𝑥 = lg(521)
1

2
  + lg 0.71 − 𝑙𝑔8.103 

   =
1

2
 ( 2.7168 ) +  1̅. 8513 − 0.9087 

 

   = 1.3584 +  1̅. 8513 − 0.9087 

   = 0.3010 

   𝑥 = 2 

 

 

 

 

 

 

 

 

 

 

 

 

11&   ¸&  𝑂𝑄 = 𝑂𝑃 ^ tl;lj;jpd; Miufs; & 

   𝑃𝑄̂𝑂 = 𝑄𝑃̂𝑂 ^ rkdhd gf;fj;jpw;F vjpuhd Nfhzq;fs;  & 

𝑄𝑃̂𝑂 = 𝑃𝑂̂𝑅 ^ xd;Wtpl;l Nfhzk;& 

𝑃𝑄̂𝑂 =  𝑃𝑂̂𝑅 

  ¸¸&   

𝑃𝑄̂𝑂 = 𝑅𝑂̂𝑆 ^ xd;Wtpl;l Nfhzk;& 

∴ 𝑃𝑂̂𝑅 =  𝑅𝑂̂𝑆 

∴ 𝑃𝑂̂𝑆 =  2𝑃𝑂̂𝑅 

𝑃𝑂̂𝑅 = 2𝑂𝑇̂𝑅 xNu tl;l tpy;ypdhy; ikaj;jpYk; gupjpapYk; mikAk; Nfhzq;fs;& 

∴ 𝑃𝑂̂𝑆 =  2(2𝑂𝑇̂𝑅) 

𝑃𝑂̂𝑆   = 𝑄𝑂̂𝑇 ^Fj;njjpu;f; Nfhzk;& 

∴  𝑄𝑂̂𝑇 =  4𝑂𝑇̂𝑅 

 

¸¸¸&  mikg;gpid mikj;j gpd;"   

 𝑈𝑅̂𝑇 = 𝑅𝑋̂𝑇 ^xNu tl;lj;Jz;lf; Nfhzq;fs;& 

𝑅𝑋̂𝑇 =  
1

2
 𝑅𝑂̂𝑇 xNu tl;l tpy;ypdhy; ikaj;jpYk; gupjpapYk; mikAk; Nfhzq;fs;& 

X 

1

2

1

1
5

2 

10 

1

 1

 1

 

3

2 

1

x 1

 
1

 

1

 
4

2 

1

 
1

 



 

𝑅𝑂̂𝑇 = 1800 − 𝑃𝑂̂𝑅 ^ Neu;Nfhl;bd; kPJs;s mLj;Js;s Nfhzq;fs;& 

∴  𝑈𝑅̂𝑇 =  
1

2
(1800 − 𝑃𝑄̂𝑂) 

 

 

 

 

 

12&  ¸&  𝐴 =  ngd;rpiy nfhs;tdT nra;Njhu;  𝐵 =  mopwg;gu; nfhs;tdT nra;Njhu; 

 ¸¸&  

   

   

 

 

 

 

  

 ¸¸¸&  70 + 50 − 80 = 40  

  𝑥 = 20 

 

 ¸¹&  70 − (15 + 40) = 15 

 ¹&  

 

 

 

 

 

 

 

 

 

 

 

 

   

 

Gj;jfk; 
nfhs;tdT 
nra;Njhu; 

A 

B 

𝜀 100 
70 

50 

x x 

20 

1

 

3

2 
10 

1

3

3

2

1

10 


